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a am B &t E i = (& h {E =7 (& = B

B = %

) ATIE®) (M) (M) (M) (kg)

LA 35.9 JtiEE 35.1 1,944 1,728 1,620 10l vay L
IZALA 7.2 f [F 0.4 — 1,296 — 10 L
ES] 8.6 BRE 8.6 2,592 2,322 2,322 10 M
[E<ELY 10.0 E % 9.9 1,836 1,404 1,404 15| A L
HYE 1.9 BRE 1.2 1,728 1512 864 4] A M
_EDH 6.6 BERE 47 1,728 1,296 1,296 4 A M
Ty 76.1 B E 52.8 1,415 864 864 10] vy 8
EF3SNAZS 2.0 BB 1.4 238 184 86 02] A M
hE 48 X » 1.8 1,404 864 864 3l A L
_hE 1.9 E B 1.1 2,592 2592 2.268 3 L
“hE 18 [ 0.6 - 4536 — 3] A S
125 1.9 = IF 0.9 4,320 3,780 3,132 5] a9
tJL)— 0.4 EH 0.4 4,968 — 4,320 0] A LL
T AINGHR 1.8 k= B 0.2 — 97 — 0.1 L
LA 40.2 E % 40.1 1512 1,080 162 0] A 16
FoHTUYA 1.0 BRE 0.7 1,728 — 1,080 4] A L
oY 15.8 =) 8.7 1,728 1,728 1,512 5 B M
=pdY BE X 6.3 - 1,944 - 5] Y1y L
ANESSEO) 2.1 BERE 1.8 3,240 — 2,700 0] A 5
g 6.4 ElG 26 2,268 2,160 1,944 51 A L
Al = 0.2 1,188 864 864 25 A M
<k 18.2 X 5 8.0 1512 - 1,296 A KT 16
k< EEES 75 1,728 1,404 1,404 4] vay LL
I=kThk 35 EEES 2.0 227 216 194 02] va9 M
F—< 8.0 X & 5.0 93 81 70 015 A M
E53ACL 3.3 X & 2.9 3,974 3,726 3,229 10l vay 3L
VR 1.5 BRE 1.4 92 92 76 0.1 A M
[2H5Y 8.2 BRE 7.6 1,620 - 1,296 5] A LL
SPVAITA 0.1 JtiEE - 5,940 — 2] vay
MrALE 35 fE K 2.3 2,808 2,376 2,376 5 L
[ES RIS 25.3 £ & 20.0 38 — 22 0.45
&LV 0.1 BERE 0.1 7,020 — 6,480 10] A L
=FEheE 31.8 £ & 31.1 2,700 2,376 2,322 20] iy L
ELLV=IT 1.3 ERE - 119 - 01] ™ L
ELLV=IT =l 0.8 86 — 76 01] A M
ZDEET 3.6 K 15 25 32 23 22 0.1 A
LoHL 1.3 2 1.3 97 65 65 0.2
FFRLE 351.9
Bx

a & B &t E i = {E == ] =7 {E = B

m H = %

() ART=®) (M) (M) (M) (kg)

BINA AT 2.6
INGRAHB DA 2.6 = B 1.5 — 1,944 — 5 L
INDRH DA ® B 3,240 — 2,160 5 M
INGRIH DA k% 2,700 — 2,160 5 S
LEY 14 F Y 0.7 7,560 7,344 6,480 17 115
INLULT 2.2 El 2.2 3,888 3,672 3,240 17
SLF7ILY 05 mr2Y 05 — 4,320 — 15 45
YAZE 13.8
23F3I)LK 9.0 T & 9.0 — 6,210 — 10| vy 36
AL 45 g & 45 - 6,156 - I Y 36
3HEt 2.7
33 2.7 N 1.0 486 432 432 05| Y1y 3L
ERRHN 0.1
ERAS 0.1 X & 0.1 — 1,728 - 16| Y1y 3L
Y p) 0.2 JtiEE 0.1 — 756 — 0.18] vay LL
B5&5 JtiEE — 756 - 0.18] a9 L
B5&5 iEE - - - FLR M
SESE 3.4
F5SHTT 1.2 = g 0.5 — — — PR LL
TIIITF = - 3,024 — 16| A L
T5917F =G - - - FLR M
Big 1.3 Z [ 0.9 2,808 — 2,678 14| B 4L
EA—x 0.3 12 [ 0.2 — 10,260 — 5 B 4L
A0 st 6.1
7—ILA 0.7 =l 0.4 2,430 — 2,376 5 VED)
AHZ 1.8
ZRhAD 3.6 H 0.9 4,320 3,780 3,780 5] Y1y LL
FLHE 36.2
ERAY 30.1 BRE 25.3 1,296 1,188 1,188 6] A L
_fEEFT L 6.0 BRE 6.0 3,024 2,160 2,160 0] A 3L
INFF 12.8 = 12.8 4514 2,991 2,948 15
IMFyTIL 1.6 EYEY 1.6 3,564 — 2,376 10 8
Fo47)ILY 3.1 -9 3.1 5,076 4212 4212 5.8 30
RERE 87.6




